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I'M THE BOSS OF MY BODY!
STOP SEXUAL ABUSE!

STOP! RUN! TELL! REPORT!

STOP SEXUAL ABUSE! STOP TOUCHING ME! [

IT IS EVERYONE’S RESPONSIBILITY TO
STOP SEXUAL ABUSE
ABUSERS MUST
BE REPORTED
AND DEALT WITH
LAWFULLY!
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LDescribing and ordering fractions

-
What do the fraction strips tell you?

~

<« >

0 1 | | |
» How many numbers are marked 0 1

¢ How far is the unnumbered mark
\_ from the next number? J \ J

1. Use these number lines to answer the questions:

| o
Q «J— 17T T T 1T T~
0 1
i. What do the interval marks between 0 and 1 show us?¢
ii. How did you work it oute
ii. What will the interval be between 0 and the next mark after 12 (O}
< I I I I I |
b. < [ [ [ [ [ [ [
1 2
i. What do the interval marks between 1 and 2 show us?
i. How did you work it out?e
ii. What will the interval be between 1 and the next mark after 22
C. = I | | | | | | | | | [

I I I I I I I I I I
4

3
i. What do the intervals between 3 and 4 tell us?

ii. How did you work it out?

iii. What will the interval be between 3 and the second mark after 42

© 494 2 8 4 8 B 7 8 © 90 91 92 18 94 96
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b. - C. d.

3. What fraction does the arrow show?

S N
0 Q 1
S T N N N T N R R B B I
I I I I I I I I I I I
1 Q 2
S R N N ER R M R R B
| | | | | | | | | | |
4 G 5
d
® < | | | | | | | | | [
7 ! ! ! ! ! ! ! ! ! !
5 G 6
4. Show the following on the number lines.
a. One and a half e  .-————-., A ht2
1 2
b. Two and one quarter < I I I I I I I I I I I »
1 2 <)
c. Three and one eighth -ttt
3 4
A IR I N NN NN NN NN NN NN I
d. Two and one fifth I | | | | | | | | | |
2 3 4

Sharing sweets

If 5 children share 35 sweets, how many sweets will each child get?2 What fraction of the sweets will
each child get?

3
18 16 17 18 19 20 21 22 28 24 28 26 2v 26 20 IV
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LEquivalent fraclions

Dy

Look at the fractions and the sums. Talk about it.

Halves Quarters Eighths

1. Using the above diagrams, write an equivalent fraction for:

Q. 1 _ 2 b. 3 _ C. 4 _
2 4 4 8

d. 2 _ e. 2 _ f. 6 _
4 2 8

2. Filin<,>or-=.

a.
>

1
4

1
2

© 494 2 8 4 8 B 7 8 © 90 91 92 18 94 96



3. Complete the following:

a. Onewhole= 1 |1 d. Onewhole= 3
2 2 4
b. Onewhole= 2 e. Onewhole= 3 |
4 8
c. Onewhole= 4 f. Onewhole= 2 |
8 8
4. Draw a picture for the following:

a. Jabu had two quarters of a slab of b. Ben had :of a cool drink, and then another 3
chocolate, and Wiliam had five eighths Sam had ; of the same type of cool drink. What
of another slab. Who ate the most do you notice?
chocolate?

Fractions everywhere you look

A
Divide any ] Show one
object into - quarter of the Show one half
eighths. object. of the object.
ﬁ

5
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Mere equivalent fractions

p

Look at the frqcﬁons and the sums Talk about it.

1
1+2= 5 1—3—— 1—6—— 1+12= 75
Halves Thirds Sixths Twelfths
1. Using the above diagrams, write an equivalent fraction for:
a _| 3 b. 1 c. 1 _
2 6 3 6
d. 2 _ e § _ f m _
3 6 12
9 4 _ 12 _ L6
6 12 12 @®

2. Fillin <or>.

a. ¢ - 2 p. 1 2 c. 9 1
1 3 2 6 12 2
d. 1 4 e. 2 3 f. 7 2
2 6 6 12 12 3
9 11 )¢ a4 L2 1
12 6 12 6 3 2
| 5 K12 L1072
2 6 12 3 12 S
m. n. 10 0. 5

o~N|—

N | —
W=

12

wW|—

19 2 8 4 8 B 7 8 © 10 91 192 18 14
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3. Complete the following:

a. Onewhole= 1 d. One whole = 1
2 3

b. One whole= 3 e. Onewhole = 5
6 6

c. Onewhole= 6 f. Onewhole= 5 |
12 12

4. Write a word problem for each.

a.

%

Fraction problems

Suraya made 12 samoosas.
Two-sixths of the samoosas were chicken.
How many chicken samoosas did Suraya make?

Make a drawing to help you fo solve this.

18 16 17 18 19 20 21 22 28 24 28 26 2v 26 20 IV
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Talk about these yellow whole hexagons and the fractions.

| ‘e @ @

1. Answer the following questions. Use two =1 whole

a. The yellow hexagon is which part of the whole?

b. The red trapezium ‘ is which part of the whole? ®

c. The blue rhombus ' is which part of the whole?

d. The green friangle A is which part of the whole¢

2. Do these.

a. How many green friangles A are in one blue rhombus'?
b. How many green triangles Aore in one red ’rropezium‘ [

c. How many green ’rrionglesAore in one yellow hexagon

© 494 2 8 4 8 B 7 8 © 90 91 92 18 94 96



> Il X

.
d. How many blue rhombuses'ore in one yellow hexagon

e. How many red ’rropezium‘cre in one yellow hexagon [

3. Complete the following by drawing shapes.

¢ojoe
’

?
¢ojejoe

Make my own sums
<:> Make five of your own fraction sums using the shapes on the left.

A N

9
18 16 17 18 19 20 21 22 28 24 28 26 2v 26 20 IV
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LEAdJdition and subtraction of fraction's
44

Look at the diagram. Make addition sums using the colour fraction circles?

%5 0w
@ % O ¢
Q¥ 04

1. Do these calculations. Use the diagram to help you.

ok

0

o

N|— w|—

©

-9l 4]

TS

o=

o

o~ |[—

&L
X JiE AN
Y,
B
>

o
oo |—

—h

O |—

2
|—

ta d v VR

.
| -

+

(@)
+

N

i Dop[]
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2. Use the diagram to complete the sums.

a 1,2 _|3 b6 2 _ CRZN G
4 4 4 10 10 8 8
d 9 7 _ € 4 3 _ .5 4 _
12 12 7 7 11 11
. 9-8 6 _ g, 1 SR
10 10 o) o) 3 3
3,8 _ k-1 8 _ Ln6 3
12 12 12 12 11 11

3. Atthe party | ate % of a pizza, my friend had 113 and my big
brother had 7; of the same pizza. How much pizza did we eat
altogether? Show your answer. Show your answer on a separate
piece of paper.

Colour each fraction strip in different colours. Ask a friend to write down the fractions each colour
represents in the fraction strip. We coloured the first one for you.




@ LAddition of mixed numbers
We say that
these are mixed
numbers.

What is each picture telling you?

o

T
¢
)<
o IIIII

© 494 2 8 4 8 B 7 8 © 90 91 92 18 94 96
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2. Calculate the following:

o 3,14
D 5 7575
b. 'Ié + 2 —
N e
c. AN SN 3 1
& & . 15 4+, =
- v 6 6
“H | G -
2t 47
e 3, 4
D » T8
- 2,6 _
A ¥4 AL
9 2 4
I 1K, e
h. 1
iy | (AL
i 2 3
SOBe « -
J 2 4
...‘ o9 - -
What does this mean?
Make a drawing to show this.
\ \
1% glasses of water 3% plates of food 1% cakes

v

1
18 16 17 18 19 20 21 22 28 24 28 26 2v 26 20 IV
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)Addi‘rion and subiraction of mixed

’ ntmbers

1. Complete the following addition sums.

Look at the sum and the diagrams. Explain this in your own words.

i @@ODODD

2

Y ""‘e@
5 9
5+5+3

a. 3 1 _ b. 2 1 _ c. 4 . 1_
4 T4 = 575 = 7 v7 =

d ,3,3_ e. .2 1_ o1 4
28+§— ]4+4— 48+8—

2. Complete the following subtraction sums.

a. 3 1 _ b. 2 1 _ c. 4 1 _
4 4~ 5 57 7 7"

14

O 49 2 8 4 8 B ¥ &

¢ 10 91 92 18 14 14



3. Complete the following sums and remember to show your calculations.

qa. § ]_ b. g l_ C. ﬁ l:
14+~ 35 *5 = °7 7

d 3 3_ 822_]l= f. 1 4

28 t4g* 44 4g t4sg
R L R

4. Complete the following story sums.

a. Father brings home 5 3 chocolate from work. If Mother eats 2 1 , how much is left

forme? 8 g
b. John buys 3 cakes. He and his friends eat 2 é . How much is left over?

c. Sipho has 6 oranges. His family eats 2 % . How much is left over?

Q. b. C.

Reading fractions

Bongi enjoys reading. She has read . of a 120-page book. How many pages of the book does she still

have to read? 4

1
16 17 18 19 20 21 22 28 24 286 26 2y 26 29 0



Discuss the following:

Divide 12 sweets between 3 learners. Divide 12 swee’rs between 4 learners.

1
* What fraction did each one get? 3| ° What fraction did each one get? 4
* How many sweets did each learner | ¢ How many sweets did each learner
gete gete

1. Write a fraction number sentence for each.

Example 1: Example 2:
¢ |If we divide 12 sweets between 3 e |f we divide 12 sweets between 4
learners, each one gets 4 sweefs. learners, each one gets 3 sweetfs.
e This means that each learner gets L ¢ This means that each learner gets iy
o L of 12 sweets equals 4. ° > L of 12 sweets equals 3. ¢ @
3 4
e We write it as a number sentence: ¢ We write it as a number sentence:
Jof12=4 yof12=3
a. If we divide 24 marbles  b. If we divide 45 cards c. If we divide 35 counters
between 3 children, between 5 children, between 7 children,
each one will get 8 each one will get 9 each one will get 5
marbles. cards. counters.
d. If we divide 32 sweets e. If we divide 63 blocks f. If we divide 72 coins
between 4 children, between 7 children, between 6 children,
each one will get 8 each one will get 9 each one will get 12

sweets. blocks. coins.

O 10 91 92 18 14
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2. Solve the following. Show a drawing for each.

Example 1:
peliil? 1 of12=2 1 of50=5
%of]5=3 6 10

W
Bk
| ﬁﬁﬁ

|

a §of24= b ”of44 C 7of63=
®
d. 1 of40= e. L of77= .. L oofag=
4 7 4
g. - of 100 = h 1 of24= i 1 of54=
10 6 9

Sweet fractions

My mother buys a big bag of Fizzers with 144 sweets inside. My brother and 11 friends share the bag
between them. How many will each child receive? What fraction of the fizzers will each child gete

1
18 16 17 18 19 20 21 22 28 24 28 26 2v 26 20 IV
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L.Eraction problems

Dy

> OEp S W
I i N C;’ ‘*-._q_,.;s ..

W W
Y QY

1. Use the picture above to answer the questions.

a. What fraction of the trees are light green? ;
What fraction of the trees are dark green? ;

o

Write a fraction sum for the trees | |

0

(o}

. The forestry department planted one more dark green free. What fraction of
the trees are now dark green? ; light greene ;
e. Two light green trees died. What fraction of the trees are now dark green?

|;| light green? ;

2. Use the picture above to answer the questions.
a. How many big containers are on the truck?

b. Each container is filled with small boxes.
How many small boxes are in the first container? ———
How many small boxes are in the second containere ;
Write it as a fraction of the second container. ;
c. Another 6 small boxes are to be loaded onto the fruck.
Write it as a fraction of all the small boxes now on the truck. ;

© 494 2 8 4 8 B 7 8 © 90 91 92 18 94 96
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3. Some people do their early morning aerobics outside.
How many people are doing physical exercises outside? I;I
What fraction of them are wearing blue sport’s wear? I;I
What fraction of them are wearing purple sport’s wear? I;I
What fraction of them are wearing green sport's wear?e I;I

®© o 0 T Q

Write a fraction sum for the clothing of all the people doing exercises.

4. Look at the building. Answer the questions.

a. What fraction of the building is yellow? I;I pink?e I;I
orange? I;I green? I;I

Write a fraction sum to show the colours of the building. I;I

b.
c. What fraction of the building has windows? I;I
d. What fraction of the building has a door? I;I
e. Complete the table below:
Fraction of building ]]—2 % % % % % % % %

(@]

N

N

Windows panes

My own questions

Look at the picture of the train. Colour the carriages and then write your own fraction
question. Remember it should be different from the questions in the worksheet.

18 16 17 18 19 20 21 22 28 24 28 26 2v 25 29
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aMeasuring and recording mass

What would you weigh with the following measuring instruments? Give three
examples. - --

1. Would you weigh the following in grams or kilograms?

a. A dog: b. Sugar for baking a cake:

c. A paper clip: d. Your friend:

2. Give three examples of each: Something that weighs:

a. between 1 kg and 2 kg.

b. less than 1 kg but more than 500 g

C. more than 1,5 kg but less than 2 kg

d. less than 5 000 g but more than 2 kg

e. between 2 500 g and 3 kg

20
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3. Fill in the intervals on these two 10 kg scales.

4. Complete the intervals on these 10 kg scales. How much do the objects weigh?

- O

ﬁ

0]

5. Calculate the total mass of all the objects.

18 16 17 18 19 20 241

continued &

2
22 28 24 28 25 2y 23 29 IV




) Measuring and recording mass

’ b Confinued

6. Draw the pointer to these positions on the bathroom scales.
a. 57 kg 500 g b. 125 kg c. 32,5 kg

7. Write the following as it would appear on the scale.
a.75kg 500 g b. 125 kg c. 146 kg 500 g

8. Draw the pointer to the following positions on the scale. Draw or paste an
appropriate picture for the mass shown.

a. 2 kg b.3 kg 500 g

c.4kg 7509

22
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9. Write the following as it would appear on the scale.
a. 4 kg b.7 kg 500 g

10. Find pictures and paste in or draw pictures and write the names of five objects
that weigh more than 2 kg 500 g but less than 5 000 g.

18 16 17 18 19 20 21 22 28 24 28 26 2v 26 20 IV
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‘ Mass— converting measurement tnits

What do the intervals from 0 to 1 mean?
1 to 22 8to 92
e Let us count: 100 g, 200 g, 300 g, 400 g,
500 g, 600 g, 700 g, 800 g, 900 g, 1kg,
1 kg 100 g, 1 kg 200 g, 1 kg 3009 ...
* We say there are 1 000 grams in 1 kilogram.

1. How much do the objects weigh? Write your answer in:

i. kilograms and
ii. grams

19 2 8 4 &5 6 O 10 91 12 18



2. Write the following in grams.

a. 2kg250g= 22509 b.3kg 500 g =
c.4kg150g= d. 1kg200g=
e.6kg750g= f. 8kg 950 g =

3. Write the following in kilograms and grams.

a.4150g=4kg 150 g b. 6550 g =
c.7650g= d.5250g =
e.9950g= f. 8750 g =

4. My mother bought 2 kg 250 g of meat and 1 500 g of vegetables for her stew. How
much do the ingredients for the stew weigh? Give your answer in kilograms and
grams.

Weighing the dog

Four friends weigh their dogs. Which dogs weigh the same?2 Susan’s dog weighs 3 500 g,
Mandla’s dog weighs 3 kg 50 g, John's dog weighs 3 kg 500 g and Kevin's dog weighs 3,5 kg.

2
18 16 17 18 19 20 21 22 28 24 28 26 2v 26 20 IV
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a.

%

4 h

‘-k ., /

1. Colour the blocks that will give the total on the left:

1kg ' 100 g 200 g 300 g 250 g 350 g 450 g 500 g 550 g

35kg ' kg | 500g | 250g | 125g | 100g | 1kg | 1kg | 25g

2 kg 1 kg

25kg ' 2ka | g0 | KO | g0 | 5000 | Tke | 250 | 6k

05kg ' kg | 100g | 50g | 1.5kg | 200g | 1.5kg | 100g | 150g

15kg ' 1kg | 100g | 100g | 100g | 100g | 50g | 50g | 1kg

2. | can write:

O 494 2 8 4 8 B ¥

. 1 kg 200 g as
. 2kg 500 g as
. 1 kg 200 g as
. 7kg 100 g as

3 kg 250 g as

b. 3kg 500 g as
d. 4kg 500 g as
f. 2kg 300 g as
h. 4kg 750 g as

]. 6kg 125 gas

¢ 10 91 92 18 14 14




3. Write the following as kg and g:

a. 6,5 kg =l 900 b. 7,5kg =
C. 9.2kg= d. 84kg=
e. 10,9kg = f. 5,3kg =
g. 1.15kg = h. 4,25kg =
i. 2,125kg= j. 3,172kg =

4. A big bag of dog food contains 9 kg. John used 500 g the first day and 500 g the
next day. He then divided the rest equally into 16 separate small bags. What is the
mass of each of these small bags.

Continue on an extra sheet of paper

Gram, kilogram fun

Look at a newspaper or advertising mail (sometimes called junk
mail). Find items which measurements are given in grams and
kilograms.

2
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L Eraciions in use

Dy

How many litres of cool drink are in each jug?

1. Answer the following questions:

a. How many 500 ml are there in 4 litre?

Let us countinlitres:0,5¢;18;1,5¢;2¢;25%2;3¢¢;3,5¢8;4¢; ..

b. How many 500 ml are there in 6,5 £2

Let us count in litres: @

c. How many 500 ml are there in 2 £¢

Let us count in litres:

d. How many 500 ml are there in 9,5 £2

Let us count in litres:

e. How many 500 ml are there in 8 £¢

Let us count in litres:

f. How many 500 ml are there in 7,5 £2

Let us count in litres:

g. How many 500 ml are there in 12,5 22

Let us count in litres:

28
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2. Answer the following questions.

a. How many 500 g are there in 2 kilograms?

Let us count in kilograms : 0,5 kg; 1 kg; 1,5kg; 2 kg

b. How many 500 g are there in 4,5 kg?

Let us count in kilograms:

c. How many 500 g are there in 5,5 kg?

Let us count in kilograms:

d. How many 500 g are there in 7,5 kg<¢

Let us count in kilograms:

e. How many 500 g are there in 9 kg?¢

Let us count in kilograms:

f. How many 500 g are there in 10,5 kg?

Let us count in kilograms:

g. How many 500 g are there in 14,5 kg<¢

Let us count in kilograms:

Fraction hunt

| drop the numbered circles onto the blank circles. Help me to draw a decimal worm.

o 0,5 a 1,5 55 o ° 85 a
v @ © ©
a 4,5 0 3.5 2,5 7.5 6,5 a

2
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Number line

I jogged 2,5 kilometres on the first day, 1,5 km on the second day and 1 km on the third day. How far did |
jogin 3 dayse

+0,5 +05 +05 +05 +05 +0,5 +0,5 +05 +0,5 +0,5

o 1 T g | | g8 g8 | |8 I
| | | | | | | | | | | |
I I I I I I I I I I I I
0 0.5 1 1.5 2 2,5 3 3,5 4 4,5 5 5,5
(- . I J

2,5 + 1.5 + 1

1. Answer the questions using a number line to show your answer.

Jane baked 4,5 kg of cakes in the first week, 3 kg in the second week, 1,5 kg in
the third week and 5,5 kg in the fourth week.

a. What is the total mass of all the cakes baked in four weeks?
b. Write the total mass of the cakes baked in grams.

c. Whatis the difference between the mass baked in the first week and the
weight baked in the fourth week?

d. What is the difference between the mass baked in the second week and the @®
weight baked in the third week?

e. Whatis the total of the mass baked in the first week and the mass baked in the

fourth week?2

30
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2. Study the following recipe for scones and answer the following quesﬁon.
Make a drawing or use a number line to solve it.

If we have one egg, how many grams of margarine are we going to need?
If | use one litre of milk, how much sugar will | need?

1,5 kg of sugar will need how many litres of milke

How much margarine will 20 cups of flour need?

What is half of 0,5 litrese

4

1,5 kg margarine

10 cups flour

50 g baking powder
0,5 litres milk

0,5 kg sugar
5 eggs
5 bottle tops vanilla essence

Make your own word sums

Use the decimals to make your own word sums.

Mass

1,5 kg

Capacity Length

10,5 metres

0.5 metres

[ 25lies |
| OSlres 65 metres
[ 15ies | ) [8mefes | P
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My brother i

wants to buy Ho,\l’l",fﬁgugh It costs Tgfo,jnlcs,r?els ' R%%Vg(%
a second WAL O v R50 000. ‘ '
hand car.

That is not l
foo bad. He

needs fo save
another w
w R20 000.
AN J

1. Look in a newspaper for as many numbers as you can that are bigger than 20 000
but smaller 50 001. Paste them here. Explain what they mean.

— ——

\

2. Complete the following:
a. 30000+8000+ 700+ 50+ 1=

. 3000 + 20 000 + 8 + 500 + 40 =

c. 60+ 9+ 200+ 5000+ 10000 =

d. 40000 +3000 + 6 =

e. 20000 + 600 + 8 =

3. Change the digit 5 to zero in each number. Show the operation that will make it
zero.

a. 47523 = |
b. 28325= |
c. 14952= |
|
|

47 523 - 500 = 47 023

d. 35040 =
e. 50 000=

kY
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4. Your mother has to pay some bills. Assist her to fill in the four blank
cheques. Use the amounts in the yellow tags.

Pay

the sum of

Pay

the sum of

Coper e e Bt b At iy

®0002L3w :0Lw0203s DLEZILSETW

Coper e e Bt b At iy

®0002L3w :0Lw0203s DLEZ3ILSETW

Pay Pay

the sum of | R : the sum of | R :
eyt w e Bt At N eyt w e Bt At N
®0002L3w 0k=0D203s OL23LSET?W™ ®0002L3w 0k=0D2030 OL23LSET?W™

5. Write in expanded notation. Use the digits to make five different 5-digit numbers
smaller than 50 000 but bigger than 20 000. Use a digit only once in a number.

'|38549=3000O+8000+500+40+9 |
| | 2
A |
| |
| |

® O O T QO

Magazines and newspapers

Find items advertised for sale between R20 000 and R50 000.

Paste three examples here.
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)Rounding off

My brother is
going to buy
a flat screen
television for

R10 250.

The fruck
fransported

14772

potatoes.

My mother is going
to purchase
lounge suite for

R11 835.

1. Between what two ten-thousands do the following numbers lie:

. 14789 14000 [[15000 | |, q347p | |
c. 12234 d. 15893

e. 17578 f16178

g. 11943 h. 18389

. 10178 | | |

2. Give any number between
a. 20 000 and 30 000 |
b. 30 000 and 40 000
c. 10000 and 20 000
d. 40 000 and 50 000

3. Go back to the numbers you wrote in question 2. Underline the ten thousand that
is closest to your answer. Example:

20 000 and 30 000 | 20 387 '

34
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Complete the sentences.

a.

@ o 0 T

44 32®is between
23 548 is between

16 648 is between Q and Q and would be rounded fo Q

33 339 is between
49 999 is between

44 320

and

and

and

and

4. Round off to the nearest 10. Circle the digits which you look
at when deciding whether to round up or down to the nearest 10.

44 330

and would be rounded to

and would be rounded to

and would be rounded fo

and would be rounded to

44 320

5. Round off to the nearest 100. Circle the digits which you look at when deciding
whether to round up or down to the nearest 100. Complete the sentences.

a. 13 is between L=°% | gnd L2 4%P | and would be rounded to L12°%
b. 20 488 is between and and would be rounded to
c. 34078 is between and and would be rounded to
d. 39 529 is between Q and Q and would be rounded to Q
e. 29 956 is between and and would be rounded to
® 6. Round off to the nearest 1 000. Circle the digits which you look at when deciding
whether to round up or down to the nearest 1 000. Complete the sentences.
a. 1 1@31 is between 9% | and 1299 |gnd would be rounded to 1229
b. 18 945 is between and and would be rounded to
c. 20378 is between and and would be rounded to

d. 31069 is between

e.

49 500 is between

_ Jand

and

Q and would be rounded to

and would be rounded o

]

18 16 17 18 19 20 241
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Help a friend

Your friend doesn't understand rounding off to the nearest 10, 100 and 1 000.
Make a drawing of the rounded numbers below.




Look at the numbers and answer the questions.

Give the number in expanded notation.
What is the value of the:

e 12

* 82

e 72

* 5¢
* 3¢
* 6¢

* Count three numbers forwards from this number, in 2s, 3s, 5s and then 10s.
» Count three numbers backwards from this number, in 2s, 3s, 5s and then 10s.

- * Count three numbers forwards from this number, in 25s,
50s and then 100s.

e Count three numbers backwards from this number, in 25s,
50s and then 100s.

1. Write the following in expanded notation.

a. 238 571 | 200 000 + 30 000 + 8 000 + 500 + 70 + 1

b. 443 006

C. 747 523

d. 235040

2. What is the place value of the underlined digit?

a. 44 321 b. 233 332 C. 929 956
2

3. Count three numbers forwards in 2s, 3s, 5s and 10s from the given number.

a. 11781 b. 31 069 C. 96 434

2s: 2s: , , 2s:

3s: 3s: . , 3s:

5s: 5s: , , 5s:

© 9
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4. Count three numbers backwards in 2s, 3s, 5s and 10s from the given number.

a. 46 703 b. 293 254 C. 136 846
2s: 2s: 2s:

3s: 3s: 3s:

5s: 5s: 5s:

10s: 10s: 10s:

5. Count three numbers forwards in 25s, 50s and 100s from the given number.

a. 16 470 b. 790 235 C. 646 580

25s: 25s: 25s:

50s: 50s: 50s:

100s: 100s: 100s:

@ 6. Count three numbers backwards in 25s, 50s and 100s (descending order).

a. 384755 b. 57 360 c. 825090

25s: 25s: 25s:

50s: 50s: 50s:

100s: 100s: 100s:

7. Write the following from the smallest to the biggest (ascending order).

Q. 254 562, 254 526, 254 625, 254 256

.215487,215784, 215 478, 215 748

8. Write the following from the biggest to the smallest (descending order).

Q. 734 588, 785 848, 754 625, 754 858

.84 257,84 752, 84 275, 84 725

continued &

3
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LAllkabout whole numbers continued

9 Look at the foIIowmg 5-digit numbers.
a. Identify all the even numbers.

b. How do you know it is an even number?

c. Is zero an even number?

d. Identify all the odd numbers.

' e.How do you know it is an odd number?

10. Look at the rounded off numbers and number lines and answer the questions.

To the nearest To the nearest To the nearest To the nearest

10 100 1 000 10 000

65435 | 65440 65 400 65 000 70 000

65 435 rounded of to the nearest 10 is 35 440

| | L~
I I =

65 430 65 435 65 440 ®
a. Where do the 65 430 and 65 440 on the number line come from?¢

b. On what number is the blue dot2 Why?¢

65 435 rounded off to the nearest 100 is 65 400
< @

] | L
I I =

65 400 65 450 65 500
c. Why is the arrow pointing in this direction?

65 435 rounded off to the nearest 1 000 is 654 000
€ O
| | |
1 | >

65 000 65 500 66 000
d. Why is the arrow pointing in this direction?

38
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65 435 rounded off to the nearest 10 000 is 70 000
°

) | L~
L I =

60 000 65 000 70 000
e. Why do the 60 000 and 70 000 now appear on the number line?

11. Round off the following numbers to the nearest 5.

a. 95 541 b. 25 387 C. 94025
95 540

d.19976 e.78 573 f.93 254

g. 26 582 h. 53 899 i 76 481

Big numbers with meaning

Find five 5-digit numbers in a newspaper or magazine. What do each of these numbers mean?

What would happen if you removed that number from the text in the magazine or newspaper?2
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LAddition and subiraction

Dy

What is the difference between the numbers? Count forwards.

10 000 20 000 30 000 40 000 50 000

6700 16 700 26 700 36 700 46 700

What is the difference between the numbers? Count backwards.

1. What number comes nexit?

a. 12000, 22 000, 32 000,

. 14 500, 15 500, 16 500, ®

C. 16 666, 26 666, 36 666,

d. 19 620, 20 620, 21 620,

2. Complete the table: Add to or subtract from the given number.

Number Add 1 000 Subtract 1 000 Add 10 000 Subtract 10 000

13 254

18 654

26 847

34518

37777

40
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L NAY ¥

Examples:
Example 1:
36 864 + 9 654

=30000 + 6 000 + 2 000 + 800 + 600 + 60 + 50 + 4 + 4
=30000+ 15000+ 1400+ 110+8

=30000+ 10000+ 5000+ 1000+ 400+ 100+10+8
=40000+ 6000+ 500+ 10+ 8

=46518
Example 2:
36 8 6 4
i 9 6 5 4
8 (4+4)
110 (60 + 50)
1 400 (800 + 600)
15 00 0 (6000+9000)
+ 30 00O (30 000 + 0)
4 6 51 8
®
Test your answer.
4 6 51 8
- 3 6 8 6 4
4 (8—4)
0 (110 - 60)
0 (1 400 - 800)
0 (15000 - 6 000)
0 (30000 - 30 000)
4

continued &
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S =

8% ' Addition and subfraction continved

| 3. Use both methods shown on the previous page to calculate each of the following.
Write down the steps.

Q. 95242-42135= b. 62363 -210567 =

Continue on an extra sheet of paper

C. 86843 -41028 = d. 12748 +13887 =

Continue on an extra sheet of paper

e. 14678 + 16846 = f. 27 654 + 16 956 =

Continue on an extra sheet of paper

42
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4. Work out the word problems below. Make use of pictures to
show your answer.

a. Jacob has 3 090 jellybeans. He gave 1 295 to his teacher and he ate 277. How
many jellybeans were lefte

Continue on an extra sheet of paper

b. In arecent survey, 21 550 people said they liked only chocolate ice cream
and 24 550 said they liked only vanilla. How many people were in the survey?

Continue on an exifra sheet of paper

What to do. 1 6 \\ .\0

| dropped my puzzle 2

pieces. Help me to fill the

spaces so that each row ‘I 0 1 6 ,3 8 1
and column adds up fo 9

34. You can only use each 7 .\ 5 ’4 6

number once.
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LSolvingimoney problems with a

Can you remember what a budget is? Use the words to describe it.

1. How much money do | have? if
a. I had R%5,20. | spend R42,30. | earn R36,50.

b.l had R75,60. | spend R69,30. | earn R44,20.

c.lhad R100,75. | spend R37,25. | earn R46,15.
d.l had R97,65. | spend R89,75. | earn R43,95.
e.lhad R195,25. | spend R108,98. | earn R58,99

2. Complete these flow diagrams. Replace the “l spend” block with the amount in
the matching coloured block at the top.

R500 '
R200
I spend
R499 A
R999
R1 305'
R1 688'
R1 876 r R10 000|/
R1 999' R20 000'

© 494 2 8 4 8 B 7 8 © 90 91 92 18 94 96
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R5 000 l
R9 000 l

| get | get

i
ininnn

LLLLHOUL

44



The money
we get

is called
income.

The money we
spend is called
expenditure.
Money | spend Money left

Oct Money | get

5 Pocket money R150,00 R150,00

8 Book R45 R105,00
14 | Extra chores R25,00 R130,00
22 | Birthday present R55,00 R185,00
25 Hamburger R28 R157,00
26 | Extra chores R25,00 R182,00
28 DVD on special R55,00 R127.,00
29 Gift for friend R65,50 R61,50

a. What was Mbali's income on the 5th of October? I;I

b. What was Mbali’s expenditure on the 8th of October? |;|

How much money does she have left on that day? I;I

c. On the 8th of October Mbali had R105,00 left.

Why does she have R130,00 left on the 14th of October? |
d. On the 14th of October Mbali had R130,00 left. On the 26th of October Mbali

had R182,00 left.

What happened? |

e. Write down all the income and expenditure Mbali had for the month of

October.

Income

Expenditure

Budget

Draw up you own budget. If can be real or you can make up one.

18 16 17 18 19 20
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)Using the vertic al column method

S

2

' toradd

1
2
+ 1

4

Add the units (5 and 7) first. F:c:rr]rjgc:rnls'%vhich
Note how we split the 12 (5 + 7) into SIS el [l LS e
. understand place
1 ten and 2 units. 7 value) we should
We then write the 1 ten at the top of the tens  say ‘write the ten at
;zlcl;mn-ih 1. '(r:hcj J:)n[:\ |<.>f the tens
up the tens.

1. How fast can you calculate the following using the column method?

a.73+19 =

.63+ 28 = Cc.53+29=

Example:

2. Calculate the following.:

Add the units first.
We split the 12 (3 + 9) into 1 ten and 2 units.
We then write the 1 ten at the top of the tens column. (O}
Add up the tens.
3 We then split 120 (80 + 30 + 10) into
1 hundred and 2 tens.
9 * Add up the hundreds.
e Add up the thousands.

N [ W O

2 e Add up the ten thousands.

a. 95312+ 2346 =

. 47 264 + 1 428 = C. 45224 + 3896 =

4 5 B U ¢ 10 91 92 18 14 14



d. 44 295+ 2346 = €e.38217+4196 = f. 61 389+5436

3. Calculate the following:
Q.87 125+ 14997 = b. 23 238 + 57 986 = C. 23476 + 87 895 =

4. Calculate the following:

a. Find the sum of 23 624 and 19 999. b. Add these two numbers using two different
methods: 43 852 +19 620 =

Vehicle sums

My father buys a second-hand car for Ré64 540 and a motor cycle for R21 350. How much did he pay for
the two vehicles?
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)Using the vertic al'column methodiie

’ L Subiiract

5 10 « Subtract the units (5 and 7) first. Ig;:;gﬁeq ::‘y‘léver .
5 * Take note of how we break down the 60 does not help us to
b into 50 + 10. We then add the 10to the 5; ~ = Undeniandplace

. value. Rather say
- 2 7 that gives us 15. ‘We write the 10 at

* Now we can subtract the units. Lh:lJmPf e Wiz
3 8 * Subtract the tens. '

1. How fast can you calculate the following using the column method?

a. 96 - 48 p.83-25 C. 94— 46

2. Calculate the following:

Example:

Subtract the units, then
subtract the tens, then
subtract the hundreds, then
subtract the thousands, then
subtract the ten thousands.

1
-
f Y
(3]
w
N
e o o o o

a.90237-34012 .59 429 - 26 213 C. 65 515 -23 204

48
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3. Complete the following.

Example: « Subtract the units.
e Note how we break down the 40 into 30 + 10. We then
3 add the 10 to the 6; that gives us 16.

2 5 7 M4 & *  Now we can subfract the units.

e Subftract the tens.
- 3 8 e Subtract the hundreds, thousands and ten thousands.
1 1 2 0 8
a. 95242 -42 135 b. 62 363 -21057 Cc. 86 843 - 41 028

4. Complete the following.

Example:
@ 4 10 3 10
2 5 D )
- 1 2 3 8
1 2 0 8
a. 41 483 -10 295 b. 81 536 — 30 269 C.52262-20178

5. Test your answers in question 4 using addition. You will need extra paper to do this .
activity. -

The cost of university

My father paid R36 780 for my brother to study at the university this year. The cost next year will rise to
R42 990. How much extra would my father pay for my brother next year2

16 17 18 19 20 21 22 28 24 286 26 2y 26 29 0



Look at the pictures. What does front, side and top mean?
4 top N

N N

1. Complete the table by drawing the side, front and top views of the houses.

House Side view Front view Top view

8 4 5 B ¥ ¢ 10 91 92 18 14 14




>

\

fr

2. Name the following views:

- N [

_
5

J

Where is the person standing?

Where do you think the person stood when he or
she took the photograph?

In which direction was the photograph taken2 .

18 16 17 18 19 20 21 22 28 24 28 26 2v 26 20 IV



L Moere: views

Dy

Here are the six faces of a cube: Can you deduce
where the faces

) A . .
X are in relation to
A . 4[} * ‘ : each other and
Y record them on
Here are three views of the cube: the net of the

Fos

1. Complete the table by drawing the side, front and top views of the blocks.

Picture Side view Front view Top view

A
b

© 494 2 8 4 8 B 7 8 © 90 91 92 18 94 96
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2. Name the following views:

4 N

|

4 N
\ AN
4 N
L .

Views

Find a picture in a magazine that is taken from the:

4 Front view I 4 Top view N Side view N
E E

18 16 17 18 19 20 21 22 28 24 28 26 2v 26 20 IV
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Straight sides:

shapes have?

Curved sides: e Aftriangle
* Asquare
* Arectangle
* A pentagon
* A hexagon

Straight and curved sides:

4O

A

Example of closed shapes with curved and siraight sides.

Curved sides Straight sides

What type of sides
will the following

Tri-angle: Tri-3
Quad-rilateral: Quad - 4
Pent-agon: Pent-5
Hex-agon: Hex -6
Hept-agon: Hept-7
Oct-agon: Oct-8

OORAPA

1. Colour in the closed shapes.

—

- (A T

2. Colour in the shapes with straight sides only.

OCIAO N

O AL 0O

<

54
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3. These are all closed 2-D shapes. What are their names and why
do they have those names?

a. Heptagons because they have seven straight sides.

v

b. o
Gl

b U0 =
S (AN o> (

G penmgoniem @ i f <O> £g> O

Special shapes

Name the shapes below which are -"ff; l i,
quadrilaterals and have special names. If W ",.. ¥

they are quadrilaterals which do not have

special names just write “Quad” under it. E n- “

55
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_' Righiliangles

Identify all the things in the picture that look like this:
e ‘-c*;)»ﬂ s = .}é

.|

We say that
the angles are

right angles. '

1. Identify and mark as many right angles as possible in the pictures below.

56
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2. Find pictures in magazines or newspapers, and identify the
right angles in them.

3. Say if the angles are right angles or not.

Q. b. C.

| am a car designer.

Draw a picture of a motor car on grid paper mainly with right angles.
Does it look like a modern car or a car from the paste Why do you say so?2
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‘ Mere right angles

A right angle is also
called a 90 degree

We also have a
angle.

symbol to show it is a
90 degrees angle.

When we say 90
degrees we can
write it as 90 °.

—

So the little symbol ° }

4
means degrees. (

1. Show which is the right angle and write its size in degrees.

a. 90° p.

58
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2. Draw four different right angles.

a. b.

3. Use 90 ° angles to help you to draw animals. We did the first one for you.

a. b. C.

| am an architect.

Draw a picture of a building on grid paper using right angles and angles
smaller and greater than right angles.

Was it easy or difficulte Why or why not?
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_5 liessellation

’ =N Another word
. . for tessellations is
These three tessellations are regular tessellations. tiing. '

e
i

A tessellation of triangles

A tessellation of hexagons

A tessellation of squares

1. Tile the rest of the floor with these patterns.

m
48

We can also use two
or more shapes to
make a tessellation
pattern.

60
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2. Show a tessellation pattern using these shapes:
a.

@ 3. Will these shapes tessellate?

\ V‘ :

Tessellation pattern

Create your own tessellation pattern.
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LReflection

What is the difference between reflective symmetry and reflection?

Reflective symmetry Reflection
A type of symmetry where one half An image or shape as it would be
is the reflection of the other half. seen in a mirror or on a smooth lake

o Original Remember a mirror
Let us see if this shape does not cut you in
shape has reflective half.
symmetry So reflection shows

the whole shape.

> Mirror shape l

We draw a line down
the middle of the

= shape. Is the one half
the same as the other?2

We call this
reflection and the
™ line is called aline

of reflection.

It is important to remember that the

We can then call this distance from the original shape to
a line of symmetry the line of reflection must be the same
= and this shape has as the distance between the line of
reflective symmetry reflection and the mirror shape. @

1. We get reflective symmetry in nature. 2. We also get reflection in nature. Show it
Show it by drawing a line of symmetry. by drawing a line of reflection

<4 Reflection can be

The line of symmetry = seen in water.

shows the reflective
symmetry on the
spider.

=

Words we can use to describe reflective Words we can use to describe
symmetry. reflection.
mirror, shape, line of symmetry, number mirror shape, original shape, line of

of lines of symmetry reflection, lines of symmetry

62
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3. Draw all the lines of symmetry on these shapes.

Q. b. C.

4. Draw the reflection of the shape and show the line of reflection.

a b
//
/
Z
@

C d

N N
N
\\\
N

‘\ /

5. Describe each picture using your knowledge of reflection and reflective
symmetry.

a. b.

vye

C.

| am a designer

Design a tessellation pattern using reflection.
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Ro‘rahon
V ’1

Rotational symmetry
When a shape has rotational symmetry it means the outline of the turning figure
matches its original shape. Does this circle have rotational symmetry2 Explain.

\ gl <@

Why do we say the circle has an order of symmetry of 42

Rotation
There is a central point that stays fixed and everything else moves around that
point in a circle. Look at the drawing and explain it.

The dots are drawn in different colours so that
we can see in which direction the shape has
been rotated.

Original shape

| ! Words to describe rotation
M’ Centre of rotated or turned, clockwise, anfi-clockwise,
" rotation | point of rotation and distance. @

1. How many times will the wheel turn to get back to its original position?

\

2. Are these examples of rotational symmetry or rotation.

D+ @ X

O 9 2 8 4 5§ G v 8 9 10 919 12 18 14

64



3. How many times will each circle turn to get back to its starting point?
‘ . | ‘
4. Draw the lines of symmetry. How many times will each shape rotate?
a. b. C.

. ( ) /\

® 5. Complete the rotation.

Start here Start here

Drawing rotation

Draw your own example of a shape that has rotational symmetry.
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‘ iranslation

Help the stick person to get to the top block by filling in the missing parts of the

pattern.

1. Look at the translations and answer the questions.

€ a. Is the stick person only moving up
in one direction?

‘E b. Is there an order to the

movemente
\-1?"-

c. Is the stick person only
moving up in one
direction?

d. Is there an order to the
movement?e

3.

3.

2. Complete the patterns.

-

© 9 2 8 4 858 6 7 8 © 90 911 12 18 14
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explain what has happened.

3. Describe the translation. The sentences at the bottom can be given to help the

-
>

4 | 3 ]
a. The tfriangle slides block b. The square slides blocks
down and block to the - downand blocks to the
right. I left.

4. Describe what has happened to these translated shapes. The original shape has

ared border.

a. How many places down did we slide the green block?
b. How many places to the left did we slide the triangle?
c. Have we changed the shape, size or orientation of the shapes?

d. Can we say that the shapes have been translated?

Moving a star

Draw a star that has been translated three blocks down and four to the left.
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S

lemperature and the weather

1. Look at the calendar. Answer the questions below.

November
Sunday Monday Tuesday Wednesday | Thursday Friday Saturday
LI 2 3\ |4 5
& >
ol { d =
.;II g"f
P ae 1% e 9 |10~ | 1m |12
¥ Q__,& :,f ~ [\— | : &
‘-) ") ) ; S & E @

. 15 o 16~ |17 18
dledREE I 1 .

20 . 21 2 7~ |25 |24 2 25 . 26 -
B . .

J.r' J'If
27 . |28 29 ng 30
T | 2 iy 9% | r
il b | 4
1’.1( &

Write down the dates the sun was shining brightly.

o 0

Do you think it was hot or cold on those days2 Why?

Write down the dates it was raining.

a o

Do you think it was hot or cold on those days2 Why?

e. Write down the dates it was partly cloudy.

Do you think it was hot or cold on those dayse Why?
68
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When we say it
is hot or cold we
are referring to
temperature.

The degree Celsius
(¢ C) is the metric
unit for measuring
temperature.

C We use thermometer to measure if.’/
110 TP ( Monday Tuesday Wednesday Thursday Friday
‘& B & SN e B
105 Water boils °C °oC °oC L ( °oC °oc
100| af100°C . - . = =
95 E- 110 E 110 E- 110 E- 110 E- 110
105 - 105 = 105 7 105 3 105 3
90 =~ 100 — 100 - 100 = 100 - 100
85 95 = 95 = 95 - 95 = 95 e
= 90 = 90 = 90 = 90 = 90
80 85 — 85 % 85 7 85 E 85 =
75 - 80 - 80 = - 50 - 50
754 F 75 B o 753 54
70
65
60
55
50
45
37°C
40 Body
@ 35 temperature
30 | 35°C
25 Hot day
R 15°C
15 Cool day
10 2. What was the temperature on:
5
s 0 a. Monday: | |
i 1 5 0°C b. Tuesday: | |
- Water f
e -q0| orerireezes c. Wednesday: | |
\ d d. Thursday: | |
e. Friday: | |

Temperatures

Look in a newspaper for tomorrow’s expected temperature:

Minimum temperature Maximum temperature

18 16 17 18 19 20 21 22 28 24 28 26 2v 26 20 IV
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Sometimes in South Africa
when it is very cold in the
winter they say it is going

/ to be - 5 ° Celsius.

What did we learn so far? How to read a thermometer.

My mother told
me that it is colder
than 0 degrees.

What does it mea

when they say

minus?
——

1. Read these thermometers. Write down the temperature. Say if it is

very cold, cold, cool, warm or very warm.

a. b. C.
°Cc °C °C

- 110 . 110 = 110
105 = 105 i 105 =

— 100 — 100 — 100
95 = 95 w 95 e

— 90 — 90 — 90
85 T 85 T 85 i
753 3 F s F

=— 70 = 70 = 70
&5 » &5 7 &5 e

d. e
g oy ESS -
°c °C
E- 110 E- 110
1053 F 1ws3
- 100 - 100
5 w-
= 90 = 90
a5 F s F
E- 80 E- 80
3 F s F
= 70 - 70
s=SE el

f. What temperature do you like the most?

g. Why?e

O 10 91 12 18




(3]

1
(3,

2. Write down each temperature.

S s S e P —

(3]
(]

o

'
(8,

IlllJIIllll Illlllllll

1
o

(5,]

o

]
(%]

6- 10 -10
f. Which temperature is the loweste
g. Which temperature is the highest?e
3. What will the temperature be for:
South Africa Johannesburge
Thursday Ne|5prui‘|‘?
Kimberley?

e

"o a0 T Q

o Q@

What to wear

drawing.
Cut pictures from a magazine showing what people will wear in this weather. _}

Jf

Durban?

Port Elizabeth?

Cape Town?

Calvinia?

Port Nollothe

Which town or city is the

closest to you?

You can

)

16 17 18 19 20 21

22 28 26 28 25 2y 25 20 IV
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1. Complete the frequency table on electronic equipment. Children in grade 5 have:

‘ bd‘fd and pictographs

QIIE

Cell phone

Computers

iPod

Laptop

2. Use the table above and draw a pictograph.

Cell phones

[k -

Computers

!!.=4

iPods

=
<

5

Laptops

5

O 9 2 8 4 8§ 6 ¥ &8 ¢

10 19 12 198 14 96




3. Use the pictograph and draw a bar graph.

4. Answer the following questions:

@ a. How many of the children in grade five have:

e Cell phones?

e Computerse

e Laptops?

e [Pods2

b. Which electronic equipment is the most popular in grade 52

c. Which electronic equipment is the least popular in grade 52

Pamphlet search ...

Find a promotional leaflet from a computer retail store. Make a list of the
products.

What type of product is the most common on the leaflet?

16 16 17 18 19 20 21 22 28 24 28 26 2¢ 26 20 v



LRictiographs and bar graphs

On the right are the customer
satisfaction survey results taken
over a period of 6 months.

Welcome 150 190 60 10
Service 180 205 25 10
Food Quality 210 190 10 10
a7 Atmosphere 180 220 15 5

b
g’d\.
1. Each E’ represents 10 people. Represent these numbers using a symbol like
this symbol.

a. 50
b. 100 ®
c. 80

d. 140

2. Draw pictographs to represent the survey results on the four categories of service.
Each symbol should represent 10 people.

You can design
Welcome your key with

pictograph

symbols.

74
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Service

Food quality

Atmosphere

Good service?

Find out if the service of a
local restaurant is good or
not so good.

continued &

18 16 17 18 19 20 21 22 28 24 28 26 2v 26 20 IV
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__;'Picjogrqphs and bar graphs continted

3. You are going to find out what children in your grade like to drink at break. This
is a list of what drink each child prefers. Study it and then answer the following
question.

juice water milk milk juice water
water milk milk juice water juice
milk milk milk milk juice water
juice water milk milk juice water
water milk milk juice water juice
milk milk milk milk juice water
juice juice juice water water water
milk milk milk juice water milk
milk milk milk milk juice water
juice juice juice water water water
milk milk milk juice water milk
juice juice juice water water water ®
juice juice juice water water water

a. What data are you going to collect?e

b. How will you do it¢

c. How will you sort (organise) your data?e

76
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4. Draw a pictograph for your data.

5. Draw a bar graph for your data.

continued &

18 16 17 18 19 20 21 22 28 24 28 26 2v 26 20 IV
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LRictiographs and bar graphs continted

6. This is a record of how many bags of waste were collected at a school over a
month. Study it and then draw a pictograph using the information. First draw your
own symbol which represents five bags.

5 bags

© 494 2 8 4 8 B 7 8 © 90 91 92 18 94 96
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7. Use the pictograph to draw a bar graph.

) 8. Answer the questions below.
a. Which week did they have the most bags of waste?2

b. Which week did they have the least bags of waste?

c. Compare week 1 to 5. What do you notice?

d. What do you think happened with the waste at this school? Use words such as
reduce, less, more, recycle and reuse.

Waste management

How many bags or dustbins does your class fill per day?

18 16 17 18 19 20 21 22 28 24 28 26 2v 26 20 IV
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=More geomelric patierns

1. Look at the patterns and complete the table below.

My own pattern

Now you know what
a growing pattern
is. Create a pattern
and give it to your
friend to solve.

Complete the pattern.
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Mathematics Grade 5 Cut-out 6
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Mathematics Grade 5 Cut-out 7









